NAME________________
Molecular formulas

1. A compound is 43.7% phosphorous and 56.3% oxygen. The molar mass of this compound is 282 g/mol. Find its molecular formula.

2. A sample of a compound with a molar mass of 34.00 g/mol is found to consist of 5.88% hydrogen and the rest oxygen. Find its molecular formula.

3. If 4.04 g of nitrogen combine with 11.46 g of oxygen, it will produce a compound with a molar mass of 108.0 g/mol. Find the molecular formula
4. Analysis of a compound with a molar mass of 138 g/mol indicates that it contains 0.606 g nitrogen and 1.390 g of oxygen. Find its molecular formula.

